	3.2 
	Double 3/4

	1.5
	12 ( 1/2

	24
	Approximate answer to 17.9 ( 3.1
	6
	2 – 4/5

	1.2


	1/2  (  1/4
	2
	( to 1dp

	3.1
	Approximate answer to 6.9 x 7.1
	49
	Solve for a

 5a + 1 = 2

	1/5
	Give the gradient for

 y = 4x + 3
	4
	Give the tenth term for

 series defined by 2n-4 

	16
	Give the formula for

the area of a circle
	(r2
	The probability of scoring a penalty is 9/10, what is the chance of missing ?


	0.1
	Give the intercept for

 y = 2x + 7

	7
	Solve for b

 100b = 314

	3.14
	Give the sixth term for

 series defined by (n+2)2
	64
	3 + 14/5

	4.8


	Approximate answer to 16.3 x 5.9
	96
	The probability of hitting a target is 6 in 8, what is the chance of missing ?

	1/4
	Give the gradient for

 2y = 10x - 7
	5
	Half 1/10

	1/20
	1/2  x  1/4
	1/8
	( to 1sf

	3
	Give the formula for

the perimeter of a circle
	2(r
	5 - 14/5
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